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Sample Paper – 2010

Class – IX

Subject – MATHEMATICS(SA – I)

Time:3h                                                                                                                           M.M: 80
Section – A(1 marks each)
1.        __                                   

        2.35 is :                                                                       

   (a) an integer                    (b)  a rational number        (c)an irrational number         (d)none of these

             _____

2.  If 4√2x + 1 = 2 then :

       (a) x = 15/2              (b) x = 16          (c) x = 0                   (d) None

3. If (x – 2 ), is a factor of x2 + 3qx – 2q, then the value of q is:

    (a) 1                         (b) -2                     (c) 2                         (d) -1

4. One of the factors of 3x3 + x2 + 12x – 4 is:

       (a) 3x – 2                 (b) 3x + 2          (c) 3x – 1                 (d) None of these

5. In the adjoining figure, AOB is a straight line. Find (AOC and (BOD.             
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(a) 45(, 70(                       (b) 45(, 72(                 (c) 40(, 70(            (d) 45(, 50(
6. In the following fig, value of ‘x’ is 

B
                   2x( 15

D
10cm
                                                        O              10cm
C
           x(10
                  A
(a) 5                         (b) 10                        (c) 3                        (d) ( 5

7. In triangle ABC and DEF (A ( (D and (B ( (E and AB ( EF , then are the two triangles congruent? if yes, by which congruency criterion?

(a) yes, by AAS                  (b) NO                      (c) yes, by ASA         (d) yes, By RHS

8.  An angle which is 14( more than its complement

   (a) 52(                               (b) 14(                            (c) 76(                      (d) 38(
9. Given 
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 is

(a) 4                                    (b) 2                                (c) 1                            (d) 0

10. Values of (2 and (3 in the fig. is 

(a) 40(, 140(                           (b) 50(, 130(           (c) 90(, 90(                     (d)  none 
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Section – B(2 marks each)
11. Find the values of ‘a’ and ‘b’  if   
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12. Show that 1.272727... can be expressed in the form of  
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 where p and q are integers and q ( 0.
13. Is 
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How will you justify your answer without actually calculating the cubes.
14. 
In the given figure, ray OC is bisector of (AOB and OD is the ray opposite to OC. Show that              (AOD = (BOD.
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15. The side BC of (ABC is produce to D. The bisector (A meets BC in L. Prove that                                         (ABC + (ACD = 2(ALC.

16. AD and BC are equal perpendiculars to the line segment AB. Show that CD bisect AB [image: image6.emf]
17. BE and CF are two equal altitudes of triangle ABC. Using RHS congruency rule, prove that triangle ABC is isosceles. 
18. In which quadrant or on which axis do each of the points ((2, 4), (3, (1), ((1, 0), (1, 2), and ((3, (5) lie? verify your answer by locating them on Cartesian plane. 
Section – C (3 marks each)
19. Simplify the following by rationalizing  denominators 
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20. If 
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21. Represent 
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 on number line 

22. If 
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 are both factors of ax2 ( 5x ( b, show that a ( b.
23. Find the value of x3 ( y3 ( 15xy ( 125 when x ( y ( 5.
                                                                           OR

       If a ( b ( c ( 6 find the value of  
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24. POQ is a line. Ray OR ( PQ . OS is another ray lying between rays OP and OR. Prove that  
[image: image14.wmf]1

()

2

ROSQOSPOS

Ð=Ð-Ð

.    
25. If  a transversal  intersect two lines such that the bisectors of a pair of corresponding angles are parallel , then prove that the two lines are parallel.
26. D is a point on side BC of (ABC such that AD ( AC (see fig). Show that AB ( AD. 
27. In a  (ABC, if 2(A = 3(B = 6(C, calculate the measures of (A, (B and (C.  

28. A field is in a shape of trapezium whose parallel sides are 25m and 10m. The non parallel sides are 14m and 13m. Find the area of the field.

Section – D (4 marks each)
29. Let p and q be the remainders, when polynomials x3 ( 2x2 ( 5ax ( 7 and x3 ( ax2 ( 12x ( 6 are divided by (x ( 1) and (x ( 2) respectively. If 2p ( q ( 6, find the value of a.
30. Without actual division prove that  x4 ( 5x3 ( 8x2 ( 10x ( 12 is divisible by x2 ( 5x ( 6.

31. Factorize: x3 ( 23x2 ( 142x ( 120.
32. In fig, if (x ( (y, and AB ( BC, prove that AE ( CD. 

33. In (ABC, right angle at C, M is the mid -point of hypotenuse AB. C is joined to M and produced to a point  D  such that DM ( CM. Point D is joined to point B (see fig). Show that:
(i) (AMC ( (BMD.

(ii) (DBC is right angle 

(iii) (DBC ( (ACB.

(iv) CM ( 
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34. In fig, PR ( PQ and PS bisects (QPR. Prove that (PSR ( (PSQ. 
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